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(1) 2a + 3a =

(2) 7b - 4b =

(3) 3p x p* =

(4) Sm* x 3m* =

(5) (2x + 5y) x % =

(6) (3x* + 4y) x (2x + 3y) =
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(4x-35) - -Tx+8) ()J&

(3x? - 2x) x (4x* - 3x) (1) J&

=4x -5-3x"+ Tx - 8 = 3x%(4x°® - 3x%) - 2x (4x® - 3x?)

-3x 4+ 11x - 13 = 12x° - 9x* - 8x*+ 6x°

= 12x° - 17x* + 6x°

( (Degree of polynomials) .,w(ugﬁfff )
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15p'= 3p L (1) U
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3p%5: e GL L p L L5y = 3 L
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3p x 5pP=15p° , .. 15pP+3p = .sz
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(1) (-36x") + (-9x) (ii) (5Sm*) = (-m) (iii) (-20y°) + (%)
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(6x° + 8x%) + 2x (1) J&
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3x* + 4x o
2x_56x33 + 8%’ () 2x x .
'Z)C_'_T (ii) 2x x = 8x?
8y S el = 302+ 4x
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(1574 10y = 3)) + 5% (2) Ji»
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3y2+ 2)/ - g § (1) Syzx - 15y4
SYP)1SyH+ 10)° - 3)F L (i) syt = 10)°
_1sy! =
0 + 10y°- 3)7 (i) x| § | =y
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St = 3y  + 2y - . AL =0
(12p*~ 6p* + 4p) + 3p* (3) Ji>
4p - 2
3pP)12p*- 6p* + 4p :
- 12p? P eolos -
0 - 6p*+ 4p (i) 3p* x = 12p°
i ) i - e
0+ 4p :
et =dp—2,  dL=4p
(5x*= 3% + 437 + 20 - 6) +x* (4) o
5X°-3x +4
X)) Sx'-3x' +4xX°+ 2x - 6 :
syt ol —
0-3x>+ 4%+ 2x - 6 () x*x [ 5x* ] = sx*
T :
+ > (11) x* X = -3
0+ 4X'+ 2x - 6
— T (i) x* x = 42
- 4x? :
0 +2x -6

" c.‘/‘]@/l;=5x2—3x+4, L}NQ:ZX_6
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(1) 21m* = Tm (2) 40 + (-10qa)

(3) (-48p*) + (-9p") (4) 40m* + 30m’

(5) (5x°- 3x?) = x? (6) (8p°- 4p”) + 2p°

(7) (2y°+ 4y* + 3) +2y° (8) (21x*- 14x* + 7x)+ 7x°

(9) (6x°- 4x* + 8x° + 2x*) + 2Xx* (10) (25m*- 15m’ + 10m + 8) + 5m’
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(X*+ 4x + 4) = (x +2) (1) J&

Ja : ol
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V4 ) ¢ +4)xy =y+ 4y
0 - 4)° - 10y° + 24y (i) (p +4)x -4y" = -4p” - 16
43167 i)+ 4)x 6y = 6P 24y

0 + 6"+ 24y
_ 6y + 24y
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(6X+ 3 -9+ 5x + 5x°) = (x> - 1) 3)J&

S
6X> + Sx+ 9
X - 1) 6x'+ 5% + 3%+ 5x -9
Dol
_6x’ 3 6x’ (i) (x* - 1) x 6x* = 6x*- 6x°
0+ 5xX°+9x°+ 5x -9 (i) (x* - 1) x 5x = 5x° - 5x
M +

0+ 9x>+ 10x - 9
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0+ 10x + 0
el = 62+ 5c+9 , SL=10x
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(1) 07 + 10y + 24) = (y + 4) (2) (P*+Tp -5) +(p +3)

(3)(3x + 2x* + 4x%) + (x - 4) LHeem +m+m+9)+Qm-1)
(5) Bx-3x"-12+x*+x) = (2 +x%)
(6*) (a*-a*+ a*-a+ 1) +(a’>-2)

(7%) (4x* - 5x° - Ix + 1) ~ (4x - 1)
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10.1 .:53»
1. 3m, 0 2. -4a, 0 3. —716,,2, 0 4. %mz , 0
5.5¢-3,0 6. 4p - 2, 0 7.9 + 2, 3 8. 3x, - 14x* + Tx
9. 3¢ - 2% + dx + 1, 0 10. 5m - 3, 10m + 8

10.2 &:’5;‘
1.y +6,0 2.p+ 4, -17 3. 4% + 18x + 75, 300
4. m*+m+ 1, 10 5. +x-5,x-2
6.a-1,ad+a-1 7. x3—x2—%—%, _1—163
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